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	                     ax² + bx + c = 0
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	   2х² + 3х – 5 = 0

 a=2         D = b²-4ac=3²-4·2·(-5)=49=7²
 b=3               
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Ответ:  
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	1)  х² – х -12 = 0 
2)  х² + 5 х -14 = 0  
3) 6х² – х + 1 = 0
4) x²+2x-3=0

5) 3x²+x-5=0 

6) x² +x -12 =0

7) х² –2 х + 1 = 0  
8) 3х²  - х  + 2 = 0   
9) 4х² + 4 х + 1 = 0

10) х²  - 5х   - 24 = 0  


	       ax² + bx + c = a(x - x₁)( x - x₂), где  х₁  и  х₂  - корни                   уравнения  

ax² + bx + c = 0
	1) Разложите на множители

 2х² + 3х – 5 =                                                     2х² + 3х – 5 = 0

=2(х – 1)(х -  (-
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))=                                 a=2      D = b²-4ac=3²- 4·2·(-5)=49=7²
=2(х – 1)(х+
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                                                                     c=-5                 
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  Ответ:   2(х – 1)(х+
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2) Сократите дробь:
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                                                     a=2      D = b²-4ac=3²- 4·2·(-5)=49=7²
  Ответ:   
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                                                                           c=-5              
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	Разложите на множители

1) x² + 6x +9
2) 3x²- 7x +4
3) x² - 2x -8
4) -x² +3x +10
5) x² -3x-10
6) 3x² -8x +5
7) -x² +2x +8
Сократите дробь:

[image: image17.jpg]2. Pa3noxuTe Ha MHOKUTEIH:

a) Y2 +6y+9; B) 3x% -7x+4;
6) x* ~2x-8; r) 3x+10-x2.
3. Cokparure apo6s:
x’ -4 5x —x’ a’-2a+1
2 ; i ; B) =~ :
X =5x+6 x* +x—=30 2a° -3a+1




[image: image18.jpg]2. Pa3noxuTe Ha MHOKUTEIH:

a) Y2 +6y+9; B) 3x% -7x+4;
6) x* ~2x-8; r) 3x+10-x2.
3. Cokparure apo6s:
x’ -4 5x —x’ a’-2a+1
2 ; i ; B) =~ :
X =5x+6 x* +x—=30 2a° -3a+1




[image: image19.jpg]2. Pa3noxxure Ha MHOXUATENH:

a) 2 —-10¢+25; B) 3x% —8x+5;
6) x> ~3x-10; r) 2x+8—x2.
3. Coxparute OpoOs:
x?-2x 6 9-x> 4 a’+2a+1

x2=3x+2° x2+2x-15" 2a®> +3a+1"




[image: image20.jpg]2. Pa3noxxure Ha MHOXUATENH:

a) 2 —-10¢+25; B) 3x% —8x+5;
6) x> ~3x-10; r) 2x+8—x2.
3. Coxparute OpoOs:
x?-2x 6 9-x> 4 a’+2a+1

x2=3x+2° x2+2x-15" 2a®> +3a+1"






	
	
	


� EMBED Equation.DSMT4 ��� - корней нет





� EMBED Equation.DSMT4 ��� - один корень








� EMBED Equation.DSMT4 ��� - два корня
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